CO-ORDINATE GEOMETRY

1. Forthe diagram where P=(0,3), Y,
Q=(-5,0) .and R=(3,-2) -

(a) Find the equation of the line PQ

(b) Show that the A PQR is a right
angled isosceles triangle

W

(©) (i) Find M the midpointof QR Q50 ]

(i) Find the perpendicuiar
b_isector,ﬂ , of QR.

R{3.-2)

(ili) Prove this line { passes
| .-through the point P.

5. The line through AP meets the line
_ y=+/3 X atthe point C.

if AP makes an angle of 120° with the
positive x-axis, find:

tn/‘_uc:
¢

y=J3 x

(a) the equation of AP
(b) the co-ordiriates of A (in exact form).
. (c) the co-ordinates of C

(d) th_e-areabf the triangle A AOC

;_ﬁm_;BﬁEOLjhehdiagLam_opp_o_s_i_te AB has equation
3x+4y-36=0. -

(a) Show thatthe line 3x+4y—36=0isa .
tangent to thé circle (x-—’a’)z-!f(y—3)_2 =9

(b) if this tangent duts the x-axis at A, andthe

y-axis at B, find the co-ordinates of A&B.

(c) Show that the point of contact of the tangent
is P=(48,54) -

{d) If this point, P, divides AB in the ratio K: 1
find K ‘
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